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BEE | 3.0 3.0 3.0 3.0 3.0 2.0 20 | 19.0
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EF-S 30 & 1 1 1 1 1 1 1 7
e PEP 30 |m| 40 4.0 4.0 4.0 4.0 3.0 30| 260
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PCMG-TSY 30%x25 | {& 1 1 1 1 1 5
PONG-TLY  |30%25 | @ 0
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HEREEEAITE As - %7 8.8 m2 | 8.83
As7HE ik 4t L=7. 2km He5s 0.5 m3 | 0.49
AsEEM AR E B 1.2 t [ 1.16
Ny IRIHERIFEA %7 7.8 m3 [ 7.82
4 TEWRE 4t L=6. 2km %71 9.4 m3 | 9.38
Biung B 9.4 m3 | 9.38
ERERE F4ET L 2020 5.2| m3 | 5.23
TRERET ARC-40 =250 B 1.5 m2 | 1.50
TREERBET ARC-40 t=150 W 8.0/ m2 | 8.00
LFRERET M-40 t=170 WM 1.5 m2 [ 1.50
LRERBET M-40 t=120 W 8.0/ m2 | 8.00
e Q@M EAs t=30 - 070 9.5 m2 | 9.50
B EEE
SERBT W | 0.12] B
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A it K 5 ThaRED No.O Hff No.0 BAZE NoE4 Hf(2-DFIBMmENL No.E - No.A S T (2-2) A $5 45 N E N E

o#&-+#®yY 100 DP=800 100 DP=1,200 100 DP=1,200 100 DP=800 100 DP=800 | (+T#&&E®D) [+ THEHEDD)

It 5 m 120.0 m 15 m 15 m 5.0 m 5.0 m
£ # Kt & Hify H HE H BE H BE H BE CEY HE % i
(M ~{R#IE] (4K~ R#I8]
EESRLE As =15mF| m [ 2.00%120.00 240.00 | 2.00%1.50 3.00 |2.00%1.50 3.00 |2.00%5.00 10.00 |2.00%5.00 10.00 266.00 27200  |EHEEAREIER
SHLERRIE HIFRIA As,Con 1oy m2 | 0.55%120.00 66.00 | 1.00%1.50 1.50 |1.00%1.50 1.50 |1.00%5.00 5.00 |1.00%5.00 5.00 79.00 8350 |EHEEhRIBAIFHA
AsHRIE 4tE 7.2km | m3 | 0.55%0.05%120.00 3.30 | 1.00%0.05%1.50 0.08 [1.00%0.05%1.50 0.08 |1.00%0.05%5.00 0.25 |1.00%0.05%5.00 0.25 3.96 419 |AsERIEHR 7.2km
AsBEtt LI x2.35 AsH | t | 3.30%2.35 7.76 | 0.08%2.35 0.19 {0.08+2.35 0.19 {0.25%2.35 0.59 |0.25%2.35 0.59 9.32 9.89  |AsBEHALE
IR A A T8 0.28BH | m3 | (1.020-0.05)%0.55%120.00 64.02 | (1.420-0.05)%1.00%1.50 2.06 |(1.420-0.05)%1.00%1.50 2.06 |(1.020-0.05)%1.00%5.00 4.85 |(1.020-0.05)%1.00%5.00 485 77.84 8222  |MEAHRMITSA
i@l 05 AtE 6.2km | m3 | HEHRAEHI*1.2 76.82 | BEHRIEAI*1.2 2.47 |BABARAx1.2 247 |BABARAx1.2 5.82 | BB HI*1.2 5.82 93.41 9866  |F&tiEil-80%5  6.2km
HIIERL I} 0.28BH | m3 | (0.720%0.55-0.011-0.000)%120.00 |  46.20 | (0.970%1.00-0.011-0.000)*1.50 1.44 |(0.970%1.00-0.011-0.000)%1.50 1.44 |(0.720%1.00-0.011-0.000)%5.00 3.55 |(0.720%1.00-0.011-0.000)%5.00 3.55 56.18 59.39  |MHIERL i)
TRERET ARC-40(RC)  t=25cr| m 1.00%1.50 1.50 |1.00%1.50 1.50 3.00 300 |FRERET
TRE®RiET ARC-40(RC)  t=15cm| m2 [ 0.55%120.00 66.00 1.00%1.50 1.50 |1.00%1.50 1.50 69.00 7350 | FEMRET t=15cm
LEREBET M-40 t=17cm| m2 1.00%1.50 1.50 |1.00%1.50 1.50 3.00 300 | LFEBRART t=17cm
LRERET M-40 t=12cm| m2 | 0.55%120.00 66.00 1.00%5.00 5.00 [1.00%5.00 5.00 76.00 8050 | EfERREET t=12cm
REIET QABHEAs t=3cm | m2 | 0.55%120.00 66.00 | 1.00%1.50 1.50 [1.00%1.50 1.50 [1.00%5.00 5.00 |1.00%5.00 5.00 79.00 8350 |{R#EIAT t=3cm
[##18] [*#18]
SALRR Y B As s m | 1.0%120+2%2.0 124.00 | 2.00%1.50 3.00 |2.00%1.50 3.00 |2.00%1.50 3.00 |2.00%1.50 3.00 136.00 14200  |SHEERREIMT
SRR AL As,Con =10 F| m2 | (0.55+1.45)%120.00 240.00 | (1.00+0.60)*1.50 2.40 |(1.00+0.60)%1.50 2.40 |(1.00+0.60)%1.50 2.40 |(1.00+0.60)%1.50 2.40 249.60 25590  |SAEEARIEHITEA
THEEE WFEMEL m2 | (0.55+1.45)%120.00 240.00 | (1.00+0.60)*1.50 2.40 | (1.00+0.60)*1.50 2.40 | (1.00+0.60)*1.50 2.40 | (1.00+0.60)*1.50 240 249.60 25590 | FRBEEIE
REL QFHEAs t=5cm | m2 | (0.55+1.45)%120.00 240.00 (1.00+0.60)%1.50 2.40 |(1.00+0.60)*1.50 2.40 244.80 25110 |RELT t=5cm
RET OFMEAs t=5cm | m2 (1.00+0.60)*1.50 2.40 |(1.00+0.60)*1.50 2.40 4.80 480 |RET t=5cm
AsHRIE 4tE 7.2km | m2 | (0.55%0.03+1.45%0.05)¢120.00 10.68 | (1.00%0.03+0.60%0.05)*1.50 0.09 | (1.00%0.03+0.60%0.05) *1.50 0.09 | (1.00%0.03+0.60%0.05) *1.50 0.09 | (1.00%0.03+0.60%0.05) *1.50 0.09 11.04 1127 |AsBOERR 7.2km
AsBEtt LI x2.35 Asti t | 10.68%235 25.10 | 0.90%2.35 0.21 {0.90%2.35 0.21 [0.90%2.35 0.21 |0.90%2.35 0.21 25.94 2651 |AsBE#TALE
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At B % No.0+55m ##RIEHED No.0+55m ##%#i@ No.0+100m #%#E#E®) it N E

[m] -t #® Y g100 DP=800 g100 DP=800 g100 DP=800 [(+ T&HEROXLIEHERD+@

0 £ m 1.0 m 1.0 m 1.0 m
% # 2 K <+ % By CE. = CE. = CE. = & E
[#EHI~{R#EIA) [HEHE~R#IA)
R R Y B As =1sem T m [2.00%1.00 2.00 [2.00%1.00 2.00 |2.00%1.00 2.00 6.00 272.00 SRR U
SR IRIEHITRIA As,Con =10mslF| m2 [1.50%1.00 1.50 |1.50%1.00 1.50 |1.50%1.00 1.50 450 83.50 SR NRIEHIFEA
MR HIITEA T8 0.28BH | m3 [(1.020-0.05)*1.50%1.00 1.46 [(1.020-0.05)*1.50+1.00 1.46 [(1.020-0.05)*1.50+1.00 1.46 4.38 82.22 BRI A
HMERL ab 0.28BH | m3 [(0.720%1.50-0.011)%1.00 1.07 |(0.720%1.50-0.011)%1.00 1.07 |(0.720%1.50-0.011)%1.00 1.07 3.21 59.39 HHEREL (1
TREERET ARC-40(RC)  t=25cm| m2 3.00 TRERET t= 25¢m
TERET ARC-40(RC) t=15cm| m2 |1.50%1.00 1.50 [1.50%1.00 1.50 [1.50%1.00 1.50 450 73.50 TRERET t=15cm
LB T M-40 t=17cm| m2 3.00 LRERET t=17cm
TRERAET M-40 t=12cm| m2 |1.50%1.00 1.50 [1.50%1.00 1.50 [1.50%1.00 1.50 450 80.50 TERET t=12cm
REIBT QHIEAs t=8cm | m2 |1.50%1.00 1.50 |1.50%1.00 1.50 [1.50%1.00 1.50 450 83.50 REIBT t=3cm
5% 1 & - s 4tE 6.2km | m3 |HEBIEHI*1.2 1.75 | HEHRAEAI*1.2 1.75 | #EHAEAI*1.2 1.75 5.26 98.66 T LEH- 05 6.2km
AsFR B 4E 7.2km | m3 |1.50%0.05%1.00 0.08 |1.50%0.05%1.00 0.08 |1.50%0.05%1.00 0.08 0.23 4.19 As B 7.2km
AsEEM IR % 2.35 Asti t |0.08%2.35 0.19 |0.08%2.35 0.19 |0.08%2.35 0.19 0.57 9.89 AsBET LI2
[##I8] [*1818]
B RYIBR As e1semedF| m [2.00%1.00 2.00 [2.00%1.00 2.00 |2.00%1.00 2.00 6.00 142.00 SHEE AR Y B
L IRIEHITEIA As,Con t=10mpl k| m2 |(1.50+0.60)*1.00 2.10 |(1.50+0.60)*1.00 2.10 |(1.50+0.60)*1.00 2.10 6.30 255.90 SRR HIFEA
TREEEE WIRMEL m2 |(1.50+0.60)%1.00 2.10 [(1.50+0.60)%1.00 2.10 [(1.50+0.60)%1.00 2.10 6.30 255.90 THEEE
®ETL QFHIEAs t=5cm | m2 [(1.50+0.60)%1.00 2.10 [(1.50+0.60)%1.00 2.10 [(1.50+0.60)%1.00 2.10 6.30 251.10 =ET t=5cm
=BT OFHIEAs t=5cm | m2 4.80 =BT t=5cm
AsFR B 4E 7.2km | m2 |(1.50%0.03+0.60%0.05)*1.0 0.08 | (1.50%0.03+0.60*0.05) *1.0 0.08 | (1.50%0.03+0.60*0.05) *1.0 0.08 0.23 11.27 As B 7.2km
AsEEM IR % 2.35 Asif t_|0.08%2.35 0.19 10.08%2.35 0.19 10.08%2.35 0.19 0.56 26.51 AsBER 0LI2
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A it X % FERUE (AsH) N

A #&- %Y g30 DP=600

B £ m 19.00
£ a3 2 K+ & B g3 HE £ L
({28 ~{=£18]) ({28 ~{=#£18])
R4 R U i As t=15m T m | 2.00%19.00 38.00 38.00 |E@iERRYIMT
R Co t=15emLF|  m
SHERIEAITRA As,Con t=10mt T m2 | 0.55%19.00 10.45 1045 |SHERRIEHIFEIA
SHEERRIEBIFE A As,Con t=10cm#Ez| m2
BRI FEIA T 0.28BH = m3 | (0.750-0.05)%0.55%19.00 7.32 7.32  |HEMIEEIFEIA
HEWIEERL LL# 0.28BH = m3 | (0.450%0.55-0.002-0.000)%19.00 4.66 466 |(HEHIERL )
TRERERET ARC-40(RC) t=15cm m2 | 0.55%19.00 10.45 1045 |[TFTRERBRET t=15cm
TRERET ARC-40(RC) m2
LERET M-40 t=18cm m2 LTRERET t=18cm
LTERET M-40 t=12cm  m2 | 0.55%19.00 10.45 1045 |LREREET t=12cm
REIBT QFHIEAs t=3cm = m2 | 0.55%19.00 10.45 1045 |[{R{EIRT t=3cm
7% &R - 0 h ME 6.2km = m3 | HEHRIEHI*1.2 8.78 8.78 |BELiEHE-0y 6.2km
AsaR Bk 4tEE 7.2km | m3 | 0.55%0.05%19.00 0.52 052 |AsEiEME 7.2km
AsBEH AT X 2.35 AstE  t | 0.52%2.35 1.22 1.22 |AsEE#LIE
[x&IB] [X1£1H]
EHEE MR U B As t=15melF m | 2.00%19.00 38.00 38.00 |&HiERRUNMET
T MRIE HI TR A As,Con t=toempl® m2 | (0.55+0.60)%19.00 21.85 21.85 |&hiERRIEHIFEA
TEEIE BIEMEL m2 | (0.55+0.60)*19.00 21.85 2185 |FREEIE
=®ET FEHEAsOQ t=5cm m | (0.55+0.60)%11.00 12.65 1265 |REI (BHEASD t=5cm

AsRIEHE ME 7.2km | m2 | (0.55%0.03+0.6%0.05)*11.00 0.51 051 |As3RiEHE 7.2km

ASF;EHUE X 2.35 Asti t | 051%2.35 1.20 1.20 ASF%HUE
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A #h X % HIED HEQ HIEQ HIED N g

0o #&-+ #HyY £150 DP=1,200 £50 DP=600 £50 DP=600 250 DP=600

JE £ m 15 m 1.5 m 15 m 5.0 m
£ E3 iR N > ~ BfT CE H= &t = CE H= CE H= £ 7
(A ~{R#I18]) (A ~{R#I8])
R As =1smy T m | 2.00%1.50 3.00 | 2.00%1.50 3.00 | 2.00%1.50 3.00 |2.00%5.00 10.00 19.00 |SBEERRYIMT
SHEIRIERIFEIA As,Con =10m T m2 | 1.00%1.50 1.50 | 0.55%1.50 0.83 | 1.00%1.50 1.50 |1.00%5.00 5.00 8.83 |H%EhRiEHITEA
BRI A ) 0.28BH | m3 | (1.470-0.05)%1.00%1.50 2.13 | (0.760-0.05)1.00%1.50 1.07 | (0.760-0.05)%1.00%1.50 1.07 |(0.760-0.05)%1.00%5.00 3.55 782  |HEMRIBEITEA
&WEEL HE+ 0.28BH m3 | (1.120%1.00-0.023-0.000)*1.50 1.65 | (0.450%1.00-0.003-0.000)*1.50 0.67 | (0.450%1.00-0.003-0.000)*1.50 0.67 |(0.450%1.00-0.003-0.000)%5.00 2.24 523 %WEEL H4EL
TRERET ARC-40(RC) t=25cm| m2 | 1.00%1.50 1.50 150 |FEHRET t=25cm
TRERET ARC-40(RC) t=15cm| m2 1.00%1.50 1.50 | 1.00%1.50 1.50 |1.00%5.00 5.00 800 |TF/EkgizT t=15cm
LRERET M-40 t=17cm| m2 | 1.00%1.50 1.50 150 | EfERRET t=17cm
LERET M-40 t=12cm| m2 1.00%1.50 1.50 | 1.00%1.50 1.50 |1.00%5.00 5.00 800 |[L/EMRAET t=12cm
REBT Q@A EAs t=3cm | m2 [ 1.00%1.50 1.50 | 1.00%1.50 1.50 | 1.00%1.50 1.50 |1.00%5.00 5.00 950 |[{R¥EIHT t=3cm
BB 0 4tE 6.2km | m3 | HEHAEHI*1.2 2.56 | HEHRIEAI*1.2 1.28 | HEAEHI*1.2 1.28 |HEARIEAI*1.2 4.26 938 |FE1EHE-5 6.2km
AsH B i 4tE 7.2km | m3 | 1.00%0.05%1.50 0.08 | 1.00%0.05%1.50 0.08 | 1.00%0.05%1.50 0.08 |1.00%0.05%5.00 0.25 049  |AsERElk 7.2km
AsEM LR x2.35 Ast | t | 0.08%2.35 0.19 | 0.08%2.35 0.19 | 0.08%2.35 0.19 |0.25%2.35 059 116 |AsEEHALIE




